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1. [BiE]

UTXFEEFMERVERR , EBIZ ( )

(A) ! (B3BFF) >EACE>XRCE>&& (BE5 ) >| | (BiE%) >WESHE
(B) && (B8E5) >EREZE>XRAGE>WMESCE

(C) XRBE>BARNZE>R& (BHES) >|| (BEN) >WESE

(D) MEZE>ERZE>XREE>& (BES) >|| (BEWN)

2. [8i&E]

B EETNIEEN RIS ( )

(A) REER0sK1 (B) RgERtruesifalse
(C) REERER (D) BRI ENIE
3. [EiE]

BEIF AR R EESEEIZE[0 , 1001F0 (-10, -5) HIRIARXE ( )
(A) (x>=-10) && (x <=-5) | | (x> 0) && (x <100)  (B) (x>-10) && (x <-5) | | (x >= 0) && (x <= 100)

(C) (x>=-10) && (x <=-5) && (x >=0) && (x <=100) (D) (x>-10) && (x < -5) && (x > 0) && (x < 100)

4. [BiE]
LATREFRNBITERRE ( o

#include<stdio.h>
void main ( )
{
int ¢,x,y;
x=1,y=10¢c=0;
C=x++ || y++t;
printf("\n%d%d%d\n",x,y,c);

}

(A) 110 (B) 211

(CHomn (D) 001

5. [8i#E]

FIFFERETEch A ASEFBIRIARRE ( o

(A)'A'<=ch<='7 (B) (ch >="A") && (ch <='Z")
(C) (ch >="A") && (ch <='Z") (D)A<=ch<=1Z

6. [Hif]

N FifERHEERIIZ ( ) o



(A)

if(x = 0;)
printf("%f",x);
else printf("%f",-x);

)

if(x > 0)
{x = x + 1; printf("%f",x);}
else printf("%f",-x);

7. [Bif]
EZEHa=10b =20, MFRARNa < bBIER (
(A) 10

(1

8. [Bif]
EHTEHERHIRITER ( )o

#include<stdio.h>
void main ( )
{
intx=6y=0;
ifty=1)
x=15;
printf("%d\t",x);
ifty = 0)
X=3;
else
X=4;
printf("%d\n",x);
}

(A)63

(C)53

9. [8iE]
TARFEREITREXBVER ( Do
a=b=c=0;x=35
if la)x=-1;

else if (b);

else if (c) x=3;

else x =4;

(A) -1

(C)35

10.  [Bif]
EBUTRHEXA

)o

(B)

if(x > 0)
{x =x+1; printf("%f",x);}
else printf("%f",-x);

(D)

if(x > 0)
{x =x+1; printf("%f",x ;)
else printf("%f",-x); }

(B) 20
(D)o

(B)54
(D)65

(B)4
(D)3




y =2x x < ORf
y=x+1 x= 08¢
y =x x> 0t

THEHEFREERRTULXANEZ ( ) o
(A)

y=2%x;
if (x!=0)
if(x>0)y=x;
elsey=x+1;

(O

if (x >=0)

if(x>0)y=x;
elsey=x+1;
elsey=2%*x;

1. [BiE]
HBTETE Xfloat x; int y; M IEF#AYIswitchiBA]Z (
(A)

switch (x){
case 1 : printf("**\n");
case 2 : printf("** \n");
}

)

switch (1 * yX
case 1 : printf("**\n");
case 2 * y: printf("** \n");
}

12, [Bif]

(B)

y=2%x;
if (x <=0)
if(x==0)y=x+1;
elsey=x;

(D)

y=x+1,;
if (x <=0)
if(x<0)y=2%x;
elsey=x;

) o
(B)

switch (x){
case 1~2: printf("**\n");
case 3~4: printf("** \n");
}

(D)

switch (y}{
case 1: printf("**\n");
case 2 : printf("** \n");
}

Ha=1,b=3,c=5d=40 , RITZT FTEEZEFEREXIIER ( )

if (@<b)
if(c<d)x=1;
else

if (@a<c)
if(b<d)x=2;
else x = 3;
else x = 6;
elsex=7;

(A)1
(C)3

13.  [Bif]

RBWTRENX : charch ="z, MHITTEHIEARTZEc

(B)2
(D)6




ch =('A'"<=ch && ch <='Z')? (ch + 32) : ch;

(A)A (B)a
(02 (D)z
14, [HiE]

B#lintx =30,y =50,z = 80; M NMEBEARITREEEX y. zBERHIH @ ( )

ifx>y || x<z&&y>2)
Z=X;X=Y;y=12;

(A)x=50,y=80,z=80 (B)x=50,y=30,2z=30
(C)x=30,y=50,z=80 (D)x=80,y=30,z=50
15.  [E¥E]

switch(RIAX)ESARIANHIER : ( )

(A) TTUREEHR (B) RegnEi

(C) AT RER Ty F TR (D) AJBA BRI F A
—. RT=W

1. [E=

FECESH , WFIfiEA , elseFa)S5ifFa)RIEEITINIZ ( Do

2. [HEZE]

M TAFRINETRIEHM—FIfER ( )o

ifa<=b)x=1;
elsey=2;

if(a > b) printf("* * * *");
else printf("# # # #");

3. [EZF]
RBEREFHRERWT

switch(class)

{
case 'A':printf("GREATI\n");
case 'B":printf("GOOD!\n");
case 'C':printf("OKI\n");
case 'D":printf("NON\n");
default:printf("ERROR\N");

}

EclassBIER'C , MEHHERZE ( o
4. [EZ
x20~100 2 [BIRIEEEY , RIBLATFIAIEAI B HEMHIswitchiEa),

ifx<60)m=1;
else if(x <70) m = 2;
else if(x < 80) m = 3;




else if(x < 90) m = 4;

elsem=25;
switch( 1)
{

(2)m =5;break;

case 6:m = 2;break;
case 7:m = 3;break;
case 8:m = 4;break;

(3)ym=1;
}
5. [EZE]

B3NS a, b, cERIEMKENNBF48 =K

#include<stdio.h>
void main ( )
{
float a,b,c,t;
scanf("%f,%f,%f",&a,&b,&c);
if (@a<b)
{
t=a;
(1)b=t;
}
if(2)
{
t=aja=cc=t
}
if(b <)
{
(3)b=cc=t
}
printf("%f,%f,%f",a,b,c);

6. [EZ
BMA—INER , IRREREFE , WEESRH/NEFE ; IRR/NEFHE , WEHAEFH ;
EESNEBEABRVIASR,

#include<stdio.h>
void main ( )
{
char ch;
scanf("%c",&ch);
if (1)
ch=ch+32;
else
if(ch >="a' && ch <="7")
(2)



printf("%c\n",ch);

}
7. [B=]
BOESER .

(1) alvFba/hFc( )
(2) aFlb&BATFc ( )

(3) askbFBE—1NNTFc ( )
(4) a@TH ( )

=, HmiEd

1. [FERFigit]

MIESKH ; MARKBEHENAKa , bA— N8Bk, k=10, MHEKATENEK ; k=28, @HEKAHOER o

s, Hk =38, WHKGFHEAKIFERS,
2. [ERFiRi]

.{a;2 (.’B < 0)
HERMA ¢, WENMEG Y., y=1 22410 (0<a < 10)
z—5 (z > 10)

[FEFigit]

3.
5 Rl RiffllswitchZmi2 , %0 - 1003 4% |, M AENAIR SR, 18 1 9073 BAEA'A; 80 - 8943 4'B'; 70- 79
4

7R'C; 60-6973A'D ; 6057 ATFAE,

%
=



